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Vocabulary Associated with Number Operation

Addition Vocabulary (+)

Subtraction Vocabulary (-)

agd subtract
addition take (away)
. plus leave
more how many are left/left over?
and how many have gone?
make one less, two less, ten less...
sum how many fewer is... than...?
total difference between
. altogether
score Note — addition and subtraction are inverse
double qperations of each other. For example:

one more, two more, ten more...
how many more to make... ?
how many more is... than...?

6+4=10and 10—-6=4
4+6=10and 10—-4=6

Multiplication Vocabulary (x)

Division Vocabulary (%)

lots of
groups of
times
multiplication
multiply
multiplied by
multiple of
product
once, twice, three times
four times, five times... ten times
times as (big, long, wide, and so on)
repeated addition
double

halve
share, share equally
one each, two each, three each...
group in pairs, threes... tens
equal groups of
divide, division,
divided by, divided into
remainder
factor
divisible by

Note — multiplication and division are inverse
operations of each other. For example:
Bx4=24and24+6=4
4x6=24and24+4=6

Other Key Vocabulary Related to Number Operation

Decimal Fraction - A fraction writtenras a decimal.
. - The point that separates whole numbers from decimal fractions.

- Bottom number of a fraction showing the parts the whole is divided into

Decimal Point
Denominator

Digit - symbol used to show a number, so 18 is a 2-digit number.

Estimate - An approximate or rough calculation, often based on rounding.

Even number . - A number that is divisible by 2. Numbers that endin2,4,6,8or0.

Factor _ A whole number that is multiplied by another number to make a third

Integer - A whole number and not a decimal number. -

Numerator - A number above the line of a fraction showing how many parts of the whole.
Odd number _ Number that is not divisible by 2. Numbers thatend in 1, 3, 5, 7 or 9.
Partition - Where you split the whole numbér into parts, so 123 = 100 and 20 and 3
Place Value - The value of a digit in a number (the 6 in 2,645 is 600)

Prime Number - A number that is only divisible by the number 1 and itself. The prime numbers

upto30are2,3,7, 11,13, 17, 19, 23, 29 :

. (To make 12 you can do 1x12, 2x6, 3x4, so factors of 12 =1, 2, 3, 4, 6)
Round - Change a humber to a more convenient value such as nearest whole number
nearest 10 or 100. Remember rule of magic 5 where 5 and above rounds up.

Square Number - A number that is multiplied by itself. 1x1=1, 2x2=4, 3x3=9, 4x4=16 efc
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Pictori

LT

Step one: How many on each side?
)

Step two: How many altogether? Record the answer.

Step three: How many on each side? And how man); Step four: Write the match sum including symbols.
altogether? =55 ~

KAk 5
~a [Firs

ritle 1 Lmeg sentence |

éqih o add in The oneks -

W
D
W
Oljg

/
oé

Bliggest | number

\Dbn't} fdrget fo write
e the apswer

=
/|
'\\
+
=
/|
&
[y
4
+
=
&
[y
+
[y
|
+
=y

\ Npw fadd thHe rgst v JLyh
=of the ohes|

o by . X
have |landed
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@Jéﬁm@ tens and &aﬁg omn muﬂm[@wﬂﬁm@( ¢)

Step 1 .
- 3 4|+ |2 |8 |=
‘ A
4 >lo | g/ (Remlembelr yjou|can

pajrtiffion tHhe| number

Ngow add ypurr tens

Biggest ndmben
goes|hgre

Remembel tol write
your ganswer here.
Now add gn the unitsg. Yqu cqn
dofhis in morle THan pne |step.

Ny

A

g

\cx Look herg 1o find
Y our answer

ADDITION USING PARTITIONI)

=
)

Step|l: | Step|2:
1lel71+l11214]= | Bat dutlthe dalquldtign 1167 +1]2]4
' in tolumns| Recardlonie || '
! Storting Jith the UNITS COLUMN
. 11617 regord the units sum, ithe tens sun
ll6l7 . 112]4]+| [then thelhupdreds sum in bracket
. ]2/ 41®iAdditiop slar mEGAL
elo[+[2|o
(tjo’o]+[to]0)
Step|3: ' Step|4:
116]7/+|1(214]= 116/7[+[1]21]4]=
[) comp]e e the
Now domplete he 1' Zis “": ulation f E ‘t°f1h
5 [ colummn, syarying wi
116|7 /ﬂfalfulpflon fpr each P LTS
Latairy T 1[1](7 +
1 7+14 8| ol(6]o | +|2]0)
8| d[f6[0] +| 2|0 2|ofof@|o]o]+[1]o]o)
2| ofojlt]o [o]+]1]o]0) 81
N




Sirept 1: Sitep 2
6|25 |+ |4[8]= 6215+ 4.8 .=
[4
. | Starfting with [the
Loy gut|your grid BICHE UNITS| add the Higits
6/2|5 niaking sure yeur fcoltimgs 48]+
418 ® lipe gp decyrafelyl. 1o
A LL/ ba
Agition sig ol 1
Gozs T"‘" the mexi column
Sited 3: i . Sirep| 4:
6|2|5|+|4|8]|= 6|2 |5+ |4|8]|=
6(2|5 6|25
48|+ 4|8 |+
7|3 Cohtirjue [fo add 6| 7|3 Comntirjue [fo qadd
1 digits|in the|next al 1 didiits|in The |next
: column, colpmip,
r'ermernbe'r-in] 1q remerhbelring tc
include arrny digifs includg any digits

Pictorial Subtraction (- )

Taking Away o Taking Away
Step L: Step 2.

How many are on the leaf? How many are taken away?

Taking Away : Taking Away
Step 3: Step 4
Write how many are left.

| " Record in a number
eaf: sentence.

5-2=3

How many are left on the

D é}
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Subtracting in Ones (- )
Step 1: ' 5 ,

epl] | . ‘ Tep 2
206-171:= 216(-17]¢=
L1 1Y
Wite thejndnterisentene | | | g Lody kol Begin tb subltrdct |the ones
GeSiehe .
j 241 25| 26
/ -1 N4/
Step 3 Step 4
2|6|-17 1= 216|-171=/1]9
Remember 14 wpite
T>the dnsiet here
12120121 | 22] 23|24 25|26 19) a0l 21 | 22123 (24|25 126
-1 A- L N AL A\ 4L/ L AN NADN AN N\
/7
Ldoklto See- ‘
Naw subtriact the pest of el ode ot 1ohd
the dnek MI]\

Subtraction in tens and units (=)

 ISten|1: s - Vel el i Stepl2:
8l 4| -1417 |= i . 8l4|-14|7 |=
P:r'ﬁii b fthis [N
4 10| 7 nhimbeit to_make it 4 10 4
a4 54 o4 74 8la
84 110 _\.410[ _N_J10 110
| -
Bibgé¢st] nymben s il
Juglhdre FObIract|The
= | den
Stepl3: ' Stepl4:
84-/47: 8l4|l-14|7|= G| D
410 7 Theh fjll in the| arjswler
nexi tg the guestion
371 39 | 44 94 64 74 84 37 | 39 | 44 54 64 74 84
A P A0 [d10 10 10 A P ANJ1o] N\ 1ol N J10 AN 410
Now |subthact the Jun|ts FE, N O, 4 P PO P A e T T
Ramember you tar do this silioels ‘
Lin] thianlone, gteh. o
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Subtracinn" expanded method (<)

Stepll ' #ST pl2
4
. 3 5(3|7|-12]5|1]|= |Start|wiih the pnifs.
5|317|- 251'['} I [ 7| Top digit |mirjus fthe
(]III lon the njimpers, . 5ol o e 7 bo‘fomdgif
5lol ol (30| |7 |making shre the columns]ling up ANERERRYE
210/ Q |5/0] |1[)|ackurntely. X %
_ Lo Mihuslsigh herd, If|the top digit is smallep,
exichdnge from|the nexi columx?
Stepl3 ik Step|4 Wrilre langwer hete
15(3171-1215/1 |z [Now nove on to the 51317]-1215/1]=d218 6L
i 1 "4r ©- -3
i%&\ 3_: s o490 [3l0| |7 Now complete the
510+0| |30l | 7| [Ifithe top digitlis smalles, 21010 15/0] [1/-]| lcalrulation
210/ O |5]0]| |1|- |exthangd from fthd nex Folimn qz[0jo] [8|o| [e]> '
6 /
Take [thd papfifioned .
propie - g answer ahd/put|it back togethelr.
3 2|8 %

v

Subtraction compact method (-)

Steh 2
. j=l= e e ey | e =} = Start with theunits.
715 4 -18|6]|= : 7| 5| 4 -|8]|6]=| Tap digit minug botrtom digi
Lal dut|yolr grid, makin
75| 4] | |supefthat the cglung lineup ; 4
8 6|0 n(‘“nrjahly . lutgn 71514 If| the top digif is|smallar,
thelten 8|6|- ydu havd to|bofrofy fron) the
leajes 4. 8 ngxt coltirmy.
—+Minys gign here
Ima eslyl!lUl l TT?
tep 3 | Siep
Mbve|to thg next kollimr. .
7/ 5 4 -18|6]|= Tépdighminusbo to digi 7 5| 4 -18|6|=|6|6]8
6|14 6|14 Move|to [thd nelxt Eollimn.
rokingYroln |/ 1214 I{l the tpp digif is|smaller, 14 Tap digit mihug bojrtom digif|
he fundred 8|6|- | |yduHhave to|bopro fhom the 8|6|-
st jeerees] 1618 ndxt|collimp. 6|68
Top digit - hotfrorh d gi




Pi’étaria Multiplicfafion (x)’

Probllem: ] hefr’e ane B awekts in Problleth: Therg ane 8 sweets in
; 1 bag. How many are|there in 5
1 bag. How many drelthere in 5 bhod
bags? [
BT T TR T 7 7 7
[l | ‘ g
1 e S
2
1 T

Probllern: Thera are B swegts in
1 bag. How many gre|there in 5

Answer) D grjioups pT |3 makeg 19
swee T3

2 groups of 3 makes 6 3 groups of 2 makes 6 |

2 x3= 6 I x 2= 6

I

3 Qra-ups of Z.mqus 6

52:9_nj§upsc:f3:§éj , o 1 i
2x3=6  :|[[ 3 x2=6

|-

ETICTHOITIE| | et




Multlpllcatlon as Repeated Addition

Sfeg. . using number line

5 x 3 2

o 3 :
Start at 0 and make 1 jump of 3

>

S*reg 2 using number line

5 x 3 = 343+3+3+3=15H

0 3. 6 9 12 15
Keep making jumps of 3 until you have
made 5 jumps.

ié?eg 1: using number line

3 % a s

1

o 5

Starting from zero make 1 jump of 5

§LQ=2. using number line

3 x D5 =5+5+5=15H

5 Y 45 Y 45
o' 5 ° ;10 .15

Keep making jumps of 5 until you have

made 3 jumps.

Informal Recordmg (Grld Method) | Multlpllcatlon (X)

S'i'ep 1
"1\i,x 4 1 Step 2 _
...... N Pamen S e g ﬂ
1013 | . 4 .
il xlio I3 I Step 3
: R | I TG PR | e
BRI |
4x10=40 | x{to I3
4j4 0412
- Add 40
1.2 + B




Expanded vertial method in Multlgllcatlon Q(

| 51'6 ) 1 f_ ﬁ;w,f__ ,_{ﬂ*_ﬁ_ﬂg Step 2
- %_l——l T O B S A T
L 4.3 I O 3 !
’_____—~‘ 6 X » — O, - 6——‘4 X ) ] i
- L ex 33 |11 :8l6ex 3) -
Cé <. 40| (e xm_AL_O_)
_Partition 43 inte 40 andﬁS__': 72::lcu|a.‘l'e._h6‘ < 3__,_18 :: ._;
__MLI|J‘_.l.p.ll‘;/fL!]Cl.li;(.6~)"b_}{_UHAIJ:_cs),H__,,_1 _Put 1 in 'I'ens column_ and____
_Multiply unit (&) by Tens 4 | | 8 |n_um-rs columnﬂ
T Sked s — TSktep 4
- 4 3 - a =z T
S S > : 6
- 1 i8(C6 x 3) - 1 18 (6 x3)
2 .40 (ex a4 D | 2 40 +(6x40)
e e E—— N - R
_,qucula:l'e 6 x 40 =240 _ | T
__Put 2'in hundreds column, ___ Add Togefher‘ 18 and 240
4 intenscolumnand | ' to give 258.
O in units column T

COmpact Mullpllcatlon
s ; - | =
~—Stepl L 5+eg z ]

513 x4=__ ||
5 1 3

Put numbers into columns| | 4 x

e

513 )i Al\3x1a=12
: 4 x /ZPLT 2 in the units column

-
_ 1(10) is car'r'led over .
= ‘o the 'I’ens column:—

AulFiply digit in Tens column

Multiply dlgl‘l' in hundr‘eds
- zalumna by number bemg - —by number- bemg mul*nphed*—
—~—mul‘hplled-—5(190) x-4-=20 110y i =s
.,,__The,FZ,ls putiniothe | | _ Don't forget to add the dlgri‘
+housands column I car'med over. 4 + "1 = 5 |




COmpact Long Multlpllcatlon

51'691
HT U

31—
2 6 6 (3 8 x 7)

Multiply the units digit by -

units digit.'( 7 x 8 = 56)
~Put- 6-inunits-column-anc-carry -

__5 into tens:column..

Multiply units digit by tens

3 ‘2;

MU]TIP[Y the tens dlng by unr’rs
' digit. 1(10)x8=180)
-Remermber-fo-add-O:to-yrits———| |
column.and|8 tq tens column

Add the Two amounTs Togefher

To give the answer

~digit (7% 3= 21): Don"t forget || Multiply tens digit by tens 646
~—to-add- “rherdmn carried-over—{ | “digit (1 X 3=3). Pt 3 i an | e B~
_ (21+5= 26) Put 6 in Tens column hundp_gds column to glve '_ ________ I e
and 2in hundrecls column, To answerﬂ380 ; .
—“glve ahsweviéﬁ ' ke I | - — Sprs———
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